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Instructions to Pupils:

1. Do not open the booklet unti! you are told to do so.

2. Follow all instructions carefully.

3. This paper consists of 2 sections, Part | and Part 11

4. For questions 1 to 12, write the correct answer in the brackets provided

5. For questions 13 to 18, give your answers in the spaces provided in Part Il.

' | MaximumMarks |  Marks Obtained

| Part | ; 24 marks !

e _ %
Part I F 16 marks |

! R - -
| Total ! 40 marks 1

* This booklet consists of _12 pages. (pg. 1 to 12)
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For each question from 1 to 12, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4) and write your answer in the bracket
provided.

1. Adam, Beth and Carla made a few statements about living things.

All living
things have
a life cycle.

All living
things can
die.

All living things
give birth to their
young.

R N
© \«/
Adam Beth Carla

Who has/have made a correct statement(s)?

(1) Carla only

(2) Beth and Carla only

3) Adam and Beth only
(4) Adam, Beth and Carla

2. Some pupils found animal A in the school field.

) animal A

After making some observations as shown below, the pupils thought that
animal A belonged to the insect group

A: Ali said that it is hairy:
B: Bala said that it has six legs.
C: Charlie said that it has a pair of wings.

Who gave the correct observation(s) that animal A is an insect?

(1) Aonly (2) Bonly
(3) AandC only (4) BandC only
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3. The following table describes the characteristics ¢f anima! groups, X and Y.

) e
I Characteristics I x |y
L | B
Has moist skin v
Has hair on its body v p
. ' |
Lives inwaterandonland ' v | :
i -
Gives birth to its young aiive I ¥

Which of the following best represents animal groups, X and Y7 _

X Y
(1) fish mammals
2 birds : reptiles
(3) insects | amphibians |
(4) ~amphibians . mammals - B

4. Jane recorded the characteristics of a plant and mushroom as shown in the

table below
Characteristics Plant Mushroom J
w " Does it need sunlight? Yes Yes :
X Is it able to bear fruits? Yes Yes ;
Y Does it make its own food? Yes No ;
Z Is it able to respond to changes? Yes | Yes |

However, Jane’s teacher told her that only some of her characteristics werc
correct. Which of the above characteristics were correctly recorded?

(1) Wand X only (2) Wand Y only
(3) XandZonly (4) Y and Z only
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5 Which of these animals have voung that do not look like their parents upon
hatching?

1 B:grasshopper

C: mealworm beetle

A: cockroach
(1) B only
{3) AandBonly

(2) Conly

(4) Aand C only

Study the classification table below.

1

L Animals J
B |
F Group H Group J
frog mosquito
cockroach mealworm beetle ]

What would be suitable headings for Group H and Group J?

(1)
(2)
(3)
(4)

rGrcnup H Group J
Lives in water Lives on land |
Lays one egg only . | Lays many eggs at a time
Has a 3-stage life cycle . Has a 4-stage life cycle

Its young resembles the

adulit

Its young does not resemble

the adult
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Study the picture of a germinating seed below and answer questions 7 and 8.

Which part of the seed will grow first when it germinates?

(1 A (2) B
@ C “ D

Which part of the plant becomes smaller as the seedling grows?

(1 A (2) B
3 C (4 D



Rosyth School/ Topical Test/ Sciencel P4/ 2016

9. The diagram below shows two stages in the life cycle of a bean plant.

stage A stage B

What is/are the common characteristic(s) between stage A and stage B in the
life cycle of a bean plant?

A: They can make their own food
B: They are able to produce seeds.
C: They can absorb water through their roots. .

(1) Bonly (2) Conly
(3) Aand C only (4) A,BandC

10. Which of the following is not a matter?

(1) 7 [\ (2) ]

s/

(3)

shadow
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11 Fatimah filled a measuring cylinder with 30mi of water. When she added two
identical marbles into the cylinder of water, the water level rose as shown
below

What is the volume of each marble?

(1) 10mi (2) 20ml
(3) 30ml (4) 50 mi

12. Study the diagrams below.

mass: 300 g mass: 250 g mass: 200 g
volume: 50 cm® volume: 100 cm® volume: 200 cm?

Based on the information given, which one of the following statements is true?
(1) Box B is lighter than Box C
(2) Box A occupies more space than Box B.

(3) A smaller box is lighter than a bigger box. .
(4) A bigger box occupies more space than a smaller box.

End of Part |
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Part Il (16 Marks)

For questions 13 to 17, write your answers in the space provided.

13 David kept two objects, Y and Z, in two separate cages. He put fresh food and

water in the cages daily. He measured the masses of Y and Z and recorded it
in the table shown below.

Mass of object (g)
Y Z

Week 1 300 200

Week 2 320 200

Week 3 350 200

Week 4 ? ?

Week 5 390 200 )
(a) Which one, Y or Z, is'more likely to be a non-living thing? (1m)
{b) What are the possible masses of Y and Z in Week 47 (1m)

@ Y g

i) Z g
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14. Study the flowchart below.

E Living thing

Does it make its
own food?

Does it reproduce
by spores?

Does it have fruit?

Yes

(a) Based on the information in the flowchart above, which living thing, A, B, C or
D, best represents bread mould? (1m)

(b) From the flowchart, state a similarity between living thing A and living thing B.
(1m)

(c) From the flowchart, state a diffarence between living thing C and living thing
D. (1m)
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15. As part of a Science activity, Jenny observed the life cycle of insect K and
recorded her data as shown in the diagram below.

+ Adult _

(10 days) \

Egg
Pupa (6 days)
(8 days)

bW
Larva
(12 days)
(a) How long would it take for the organism to become an adult, after the eqa is
laid? (1m)
days

Jenny observed some dried skin as the organism developed. Her teacher
explained that insect K had moulted.

(b) Explain why insect K had moulted. (1m)
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16. The following diagram shows the life cycles of a butterfly and a mosquito.

f

S o

] %
—/’* o _____—"--.
4 eggs N 7 egus )
; i { 4
v
larva adult larva
T \ N
A -
— ’_‘ .‘._// ==
pupa pupa
butterfly mosquito l

(a) The butterfly and mosquito have 4-stage life cycles. Give another similarity
between the life cycles of a butterfly and a mosquito. (1m)

(b) Why do both insects lay many eggs at one time? (1m)

(c) At a particular stage in its life cycle, the larva of the butterfly is considered a
pest to farmers. Why is it considered a pest? (1m)

10
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17. Alan carried out an experiment in a dark room to observe the life cycle of
green bean plants. He measured the mass of the seed leaves as the
seedlings grew and recorded his results in a table.

{a) Which set of results, X, Y or Z, in the table below would correctly show the
mass of the seed leaves as the seedlings grew? Support your choice. (2m)

Mass (milligrams)

-

B X Y Z
Day 2 10 15 20
Day 4 15 15 15
Day 8 20 15 10

(b) As Alan continued the experiment in the dark room, he noticed that the plant
was beginning to wither. Suggest what Alan could do to ensure the plant does

not wither and die.

(1m)

(c) In the space below, draw the life cycle of the bean plant.

11

(1m)
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18. Dan was given a lever balance. He used it to compare the masses of the
three balloons as shown below.

set-up 1 set-up 2

(a) Arrange the masses of the balloons, E, F and G, in descending order. (1‘m)

Heavigst

After some time, Dan noticed a change in set-up 1 as shown below.

LF)

&3 A P |
(b) If the mass of balloon G remains the same, will there be a change in set-up
27 Explain why. (1m)
End of Paper
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Q13a)Z

b)(i) Y:370g

(i) Z: 200g

Q14a)C

b) Both A and B are plants that make its own food.

¢) C reproduce by spores but D does not reproduce by spores.
Q15a) 26 days

b) Insect K had moulted as the skin was too small and | grew bigger.

Q16a) Both life cycle start with the egg stage.

b) To ensure that if their predators eat the eggs, there will still have eggs to
continue the life cycle.

¢) The larva of a butterfly eats leaves from the farmer’s plants.

Q17a) Z. The mass of the seed leaves should decrease as the seed leaves provide
food for the seedling.

b) Alan could place the plant near the window to get sunlight.

c)

Seed
Seedling/ Young
Adult (plant) _ (plant)
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Q18a) G, F, E

b) No. In the set-up, G was heavier than F, so if F gets lighter and G remains the same, G
will still be heavier than F.
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